EeKith Bis=L”

HYDRAULIC

REZTRHREQBDRN, LEEHERSDFEUERASNER. FHE. &
FIREABFARETERE. AFFR—BEERFLENT, KEEMRHPE
BRHNEHETULMNRFRFERERYE, N FRALM~ENEARTERITHE
WA, BFRBREREERE,

624

BENzCIRE / Z2FRM10..2XJ 2L

AR / FD..IXJE

11

BISFD...1XJ

TheeiREA. BmE
BAYEIRE
MIEES
TS
A
Sz
TR

02
03
04
04
05

05
06-09

625

eKitn (17 7 o1 o

HYDRAULIC

@ i®1212/16/25/32
& S5 T {EE/315bar
@ BATERES560L/ min

@ LS EmiE, TR,

ERE, SREBEANRITIENNE
MEBQUIEHIEHEQ2, FEEIH,
WIE RER(Q2=Q1)553&IR ,
FEER BB BRI
SNERBIVRREDERIR (A= RE)



eKikh pisax” 441 / FD...IXJB

HYDRAULIC

TheEE W PR . & E E

FERERERFKRARGLEARS ERELIHDX KT . EHAIRERRHEIR,
FERMAREEEFEREQL). TREQ). THEE). THIESE4). wEES)FERBTLG). '’ANE
BY, MEIMAZIB, RERS (). WMRENTEBINETFEFRE), BFEQEENHE], TR
IBIXHo

TR (BAER)

XBREIMBEA, SHOAZ S MEBE M. EH%HRENIBEFIELOE AT HARE R OX 89z
HIEDS HABNAHE N Z EH1:20

REEHIEE, E@EOTH. EHRG4)RESEQ)ABRE, MiEQ)EERFLMEOARMFERD
o SLLERY, TEMABPHNAMENBTRSEQ)EEMETIMNDEHMABIERERES). TRE
TN (2) N, RIS (4) X Rz 3 755 (2) BIAR R M AR PR B IR/E (5) B A B o

ATHAERE, HOXFREGEDBRATEQ)P#HE, LRI, ZEHN20bar, 2FHA
50bar, FFOER, FRENKRFAOEEZERIXFREMBEANMPITERHILIIRE, XA5EEE
RFRITRZ—MEEORE, ATRALHRTE KT . IREFRRAEEARIRS FEIRHED
AZIE), MRS E TR

KT FERA B X AT B AR

O AR IERIBE TR (4) R BT AL (6) FIBEE 175 (5) By M SR 75 7Y

@ TR KA L ELETR

@ S —EEAN, FJThOXMEHIERGERATRE (HOTR) , KEmXHFIE,

@ NS XA—EFEAN, NMEEHOXMIEHERIEEEDTORE, WHNEEE 7[R X A,

626

7R / FD... 1XJBY

eKith BisEL”

HYDRAULIC

BFFEL
NTRE, WHBLERARPMARIR

E:

T BE RN TR R HE AR B E S 8
FNEL R A BEE RN RIS RN E
71, AL, &It EEEWANSLERITER
18, TR ML A SR,
fﬁﬂﬂg;ﬁ?, ﬁliﬁl‘ 7R EEBIS200bar!
b S AN S FL'R%IU*%JDXSEFWL
REEEHIER, AIfEFHRNAOINMNE—
BT, PREITRRE,

627

REDE

AT RRFGIERELE, AREESHO
WAHER(DEE . WRFIEHEZIMNEPIRIE
89, WEIERAXP BT EIRE.

g




eKith his=L”

HYDRAULIC

i / FD...IXJEY

MBS
o] [ ] 7 7 7 ¢ [+]
HEEEA
Mig12 =12 ;?iﬁﬁﬁﬁ
#1&16 =16 o on
s 5 FAtED= e
MiE32 -0 2= At
SRR = TR
FE#&?%% =P FARIE= TSRS
SAEEZ = V= ARRET
(HEZRHFHBEEN)
R IRBE SRR = HEREE SRR
HRRIET TR =B TAEES (XSAERER:)
(BIXASAEE=)

B0O= AaTmsl
Z510E19 =1X B30= FMFLD0.3 (FD12;16)
(10E19REM BNFALE) B40= TRFLO0.4 (FD25)
B60= TRFLD0.6 (FD32)
(HETRILIZEK)
J FEE

VEERF S

TR ST

RS

FD12KA 1XJ/B30
FD16KA 1XJ/B30
FD25KA 1XJ/B40
FD32KA 1XJ/B60

wAS

FDI12PA 1XJ/B30
FD16PA 1XJ/B30
FD25PA 1XJ/B40
FD32PA 1XJ/B60

FD12FA 1XJ/B30
FD16FA 1XJ/B30
FD25FA 1XJ/B40
FD32FA 1XJ/B60

628

HAS

FD12FB 1XJ/B30
FD16FB 1XJ/B30
FD25FB 1XJ/B40
FD32FB 1XJ/B60

AT / FD...IXJE

eKith mibax”’

HYDRAULIC

05/10

BEARSH
TEES, SHOAC X bar F315
TEES, HOB bar ZF420
5%QEN, HOX bar .
(hEEHEE) ®§20%35, &5315
FREES, AEB bar 2
RBE SRR EE S bar =400
Dip-=1 L/min 80(iE212) 200(®216) 320(i@1225) 560 @2
ST O%DhLE HEER __ L
SR AOEEER 20
SHESERE °C -30E+80 (THEZRRES) -20E+80 (FIRREEH)
FHESEE mm3/s 10Z800
TR W YIRRIER SRR R R

15 1 B 2%

(FEEAHLPAGIE, Ya=40°C £5°CIAS)

AP
40 [EESRENK AL,
1 2 3 4/ R
1 35 / / // ERALENE:
~ 30 / / 74 TmaeFr (Px=60bar)
82 7 // BosA
w20 I /| ,/
H s / / /|
10 / y 1=81212
// .y
5 > 281216
// sz
0 ] 3=181F25
80 160 240 320 400 480 560Q o
. T
e (L/min) —
AP
1
110 7 2, A 4 EESRBHXRML,
= 8 // ESRAENE:
oy = HREFF
ﬁ ) =2 ] A—B
0
80 160 240 320 400 480 560 Q

g (L/min) —

629



CeKith PG’

HYDRAULIC

7T R~

FB T MERIR 2 291 (R

AR / FD... 1XJEY

R~ B4 mm

IR / FD...1XJ8Y

eKith mibax”

HYDRAULIC

TR

R LI

R~ B4 mm

P4:1
G1/4" (M14X 1.5)
®D1019 T
1 B2XB2 w01
D20 y
P24:1 0
2 = G1/4" <1
M14X 1.5 [©]60.05 Al ®DAHS 2 3o
i o o :l' ﬁ — X
F#X AN S, © T mikliiifiiiiii,iiiiii,
i | Z 3 il
o3 PP6 ] A B
S a 7 15 e o
25° NI 8 1 |- | /
03 — t
R2.5 15 ,
e 5 % ! #
S B/ L) - L7 s 7
5 8| A
4 N/ ;o 3 L1 L6
D73
& —-F——¢f
D5 = A #\ B# M
X Vo= ~
77 ol = 777NN 7NN 4w
m({z £+ A ——— =] 8
\ B1+0.2 | e1= NUZANNY/
—  D9;T1 X N== ==
— —
O
mm D e N e
o 3.
S | /ff\\ 4} & . 1 #7m0 L1 L2
| 0 H o w BRI R B, 2 O 13 11
2 i S | mesesEviEsmE, 3 e -
SHOARHEOBA R =SS, % @ FEHBEINRE BEEE 4 IEELTELL L4 08
BRER G iR E TR L. ] =, REEE 5 REEIRETFL L5 %
ERELEIHFREREINLT
s [B1[B2]DL[D2] D3 [D4]D5[D6[D7T[D8|[DO|Ti|L1] 2] (3] 4]L5
FDI2KA | 48 | 70 | 54 | 46 |M42x2| 38 | 34 | 46 |38.6| 16 |M10| 16 | 39 | 16 | 32 |155|50.5 BS |B1|B|B3|HI|H2 | H3| L1 |23 )14]L5] L6
FD16KA | 48 | 70 | 54 | 46 |M42x2| 38 | 34 | 46 |38.6] 16 [M10| 16 | 39 | 16 | 32 |15.5]50.6 FD12PA |66.7) 85 | 70 | 85 |425) 70 |318) 72| - |358|429) 732
FD25KA | 56 | 80 | 60 | 54 |M52X2| 48 | 40 | 60 |48.6| 25 |[M12| 19 | 50 | 19 | 39 | 22 | 65 FD16PA | 66.7| 85 | 70 | 85 |42.5| 70 |31.8] 72| - |358]42.9| 732
FD32KA | 66 | 95| 72| 65 [M64x2| 58 | 52 | 74 |58.6] 30 [M16] 23 | 52| 19| 40| 25 | 71 FD25PA | 79.4| 100 | 80 | 100 | 50 | 80 |38.9|11.1| - |49.2|60.3)109.1
FD32PA | 96.8| 120 | 95 [ 120 | 60 | 95 [35.3|16.7]42.1|67.5]84.2| 119.7
me 6| L7| L8| Lo Lo [Li1]L12 RE BT /47 E B M, (Nm) E
FDI2KA | 60 | 3 | 78 |128] 23 |191] 65| 44M10X70GBT70.1-10.9 60 3.5kg me | 7] L8 RECE]/5 e M, (Nm) =
FD16KA | 60 | 3 | 78 | 128| 23 |191| 65 41~M10X70 GB/T70.1-10.9 60 3.5kg FD12PA | 65 | 140 44M10% 100 GB/T70.1-10.9 60 9.3kg
FD25KA | 80 | 4 |105]182] 2.3 [253] 75| 44°"M12x80GB/T70.1-10.9 95 5.6kg FDI6PA | 65 | 140 | 4/“M10X100GB/T70.1-10.9 60 93kg
AN
FD32KA | 85| 4 [115|198] 23 |289] 94 | 4/~M16x100GB/T70.1-109 | 196 8.0kg FD25PA | 75 1200 | 41M10X120GB/T710.1.105 o I8k
FD32PA | 94 |215|  44M10x140 GB/T70.1-10.9 60 28kg

630

631



eKith PiBxat”

HYDRAULIC

AR / FD... 1XJEY

IR / FD...1XJAY

eKith pipxat"’

{ HYDRAULIC

TR~ R84 mm TR~ RSB mm
BATSAEEE, FHL2IR ®24:1 BATFSAERZ, HL2iE
®D2 G1/4" (M14X 1.5) 2 ©24:1 ®D3:1 8
2 ; ;
= ! T‘T D2 G1/4" (M14x15) | PD4 )/
M
Al ol ‘ ‘
o SRR T T
2 A S Him T
N e B N o) —D | D
< — | R H y—t —
e il S : &) Sk
X =
3 = i e= \
~ —
o Ja % T
03 L6 oD3  \oD4 5
1 B 3 ) = | \oDs \en6
L4 L5
L5 > 3 e 4 L7
|
Lo s o N
; 1 |
AZ oo AP
| B s X A%\ ® ! m
%(‘F M al = ol A /\ /()\M ?% } A Fa
i =: @ = 19Oy
| Bl s ST L
— | | 1, 2, 1\
e : . HI E
o Sl L2
6 “—L - ! #@ED 13 5 7 5 EIEERBO
2 MEA _
3 AZETEERET = $ g;f
1 im0 4 B 7 OR/E(# S T E) 4 EES 8 mom
2 MEN 5 AEEMBO
3 AZETERET 6 tRhE 0
%% | BL|B2| B3| B4|B5 | DL| D2 | D3 ey D5| D6 | D7 | HI| H2 [ H3 | L1
25 | Bl|B2|B3|B4|DLID2 D3| D405 HLIH2 LLIL2)13] LA FDI12FB |50.8| 49 |165| 72 |110] 43 | 18 | 34 é%l/ZM;;XlS 105| 18 |MI0| 36 | 72 | 118 | 39
FD12FA |50.8116.5] 72 | 110 | 43 | 18 |10.5] 18 |[M10] 36 | 72 | 39 | 238 105] 65 FDI6FB |50.8| 49 |16.5 72 |110| 43 | 18 | 34 |G12|M2x 15| 105] 18 |M10| 36 | 72 | 118 | 39
FDI6FA |50.8|165| 72 | 110| 43 | 18 | 105] 18 |m10] 36 | 72 | 39 |23.8] 105] 65 FD25FB [57.2] 78 [14.5] 90 [132] 50 | 25 | 42 o34 vzrwa [135] 25 (M2 45 [ 90 | 145 ] 50
FD25FA |57.2]145] 90 [132] 50 | 25 [13.5] 25 [m12] 45 [ 90 | 50 |27.8] 148] 75 FD32FB [66.7] 78 | 20 | 105|154 56 | 30 | 42 |G3/4| M27x2| 15 | 30 |M14] 50 | 105 145] 52
FD32FA |66.7| 20 | 105|154 | 56 | 30 | 15 | 30 |M14| 50 | 105| 52 |31.8| 155| 94
: _ RS |2 |13|4|L5|L6|L7|L8|T1| =B OFZEE(T) B E EIRET
= = 2 ;r—‘—| \»— =7
5 | L6 T = OB L FD12FB |23.8/ 1051415 65 |162] 38 | 78 | 15| 9kg | 25%35 47M10X 100
FDI2FA | 140| 78 | 15 | 7.2kg 25%35 4/|\MlelOOGB/T704lflO49 FD16F |23.8] 105 11415 65 16| 38 |78 | 15| kg | 25%35 AM10X 100
FDI6FA | 140 | 78 | 15 7.2kg 25X3.5 41~M10x100 GB/T70.1-10.9 FD25FB |27.8] 148|198 | 75 |225] 50 | 105] 18 20kg  [32.92%3.53 41NM12 X120
FD25FA | 200 | 105| 18 | 16kg | 32.92x353 44"M12X 120 GB/T70.1-109 FD32FB |31.8155]215] 94 |240] 50 |115] 21 | 28kg | 37.7x3.53 4NM14X 140
FD32FA | 215|115 | 21 | 23kg 37.7x353 4"M14x140 GB/T70.1-10.9
632 633






